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(1) ygs Mag=e (2) Myds migee (3) yiat nigee (4) forraas Mg
0 | wra i feg I frysTet & faost feut musdt Ar aat 9 7
(1) I&™ g1 fdus (2) mdfaa mferus
(3) foraStars mftmmys (4) gEIFt T I=dE MiHUS
SECTION -B
MATHEMATICS (BILINGUAL) — 30 QUESTIONS (91-120)
91 | The graph of the equation v = —4 is aline
(1) parallel to x-axis (2) parallel to y-axis
(3) passing through origin (4) none of these
N | mitges vy = —4 evIre fea IyT 3
(1) x - MiaH € AN&T39 (2) y- MaH € ANT&T39
(3) H-fie a& Jad<t (4) Budaz feg gt = &at
92 | The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its
length is
(1) 60° (2) 45° (3) 90° (4) 180°
92 | gow € @uEt v d<, AT Hiow ug< ©f ydeTel ©f durEt fen € duret € gerwe 99, &
(1) 60° (2) 45° (3) 90° (4) 180°

93 | Sum of a number of two digits and the number obtained by reversing the digits of the first number
is 110. If the difference of the digits is 4, then the number is

(1) 62 (2)73 (3) 84 (4) 51

93 | & wgt €t Afvprr w7 77 w3 ufost Afr € wigt § €®er & YUz Afterm 110 1/ wiat ev =9 4 §
3t Afer 3
(1) 62 (2) 73 (3) 84 (4) 51

94 | A and B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B
alone can do this work?

(1)5 (2)6 (3)7 (4) 8

94 | Am3 B fea o § 4 fest feu ag Fae 95 M3 A feas fen § 12 fest feu go Ager 718 fea®r
fem o & faa fest feg agam
(1)5 (2)6 (3)7 (4)8

95 | A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is

(1) 18 km (2) 14 km (3)13 km (4) 12 km

95 | feg et 12 km/hr €1 7839 5% gF gdt 3 Fg€T I M3 9 Km/hr € 3839 578 TTUR MEET I
# €7 & fen few g3 mit 2 we 20 fite Bforr 92, 3F gat fast &

(1) 18 km (2) 14 km (3) 13 km (4) 12 km

96 | In atwo digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the
digits is 1/7 of the number, then the digit at the unit’s place is

(1)5 (2)4 (3)3 (4)1

96 | g wigt B Afuw fog, en<t gf 3 fun i Ufad w3 Ue W 578" 4 ST J | Wt & 73 Aftpyr
ar 1/7 3, 3t ufast gt 3 fur wia T

(1)5 (2)4 (3)3 (4)1
97 | The area of a square is 64 cm> Then its perimeter is

(1) 64 cm (2)32 cm (3) 46 cm (4) 48 cm
97 | feqr =gar €T ¥39eS 64 cm’ T few vr ufowry I

(1) 64 cm (2)32cm (3) 46 cm (4) 48 cm

98 | The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other
number is
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(1) 88 (2) 33 (3) 99 (4) None of these
98 | & Afumr=t BT HCF 1173 LCM 693 T| 7 fea Afwnrr 77 &, 3 g+t Ao 3

(1) 88 (2) 33 (3) 99 (4) fegt feg' et <t &at
99 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.

(1) 10368 (2) 10432 (3) 10560 (4) None of these
99 | i wigt TET £t 3 & Afvpr g a9 fAR § 16, 24, 36 M3 54 578 Ydt 3§ fswr A AA:

(1) 10368 (2) 10432 (3) 10560 (4) fegt feg' aet & &t
100 | The average of seven consecutive numbers is 20. The largest of these numbers is

(1) 20 (2) 22 (3) 23 (4) 24
100 | g3 gfva Afumret &t WAz 20 31 fegt fes" Ag 3 <51 Afvnr &

(1) 20 (2) 22 (3) 23 (4) 24
101 | The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height

5cm is

(1) = (57) cm? (2) I em’ (3) 57 cm? (4) none of these
101 | 1 cm foumTay M3 5 Cm €971 @ wag T3 JiE BAF I A T IV T oAfeIs T

(1) = (57) cm® (2) zmem’ (3) 57 cm® (4) fegt feg aet =t &t
102 Rational expression E in the lowest form is

xr—x+1 xt -zl xr a1 T ra+l
W= A= B 5 W
g
- o _1 a
102 | fa@aaw gu few ufeim feoima = &
T —x+1 2t —x#l P Exsl T Fa+l
(1) x+1 (2) x—1 (3) x—1 (4) x+1

The circle graph given here shows the spending (in degrees) of a country on various sports during
the particular year. Study the graph carefully and answer the next three questions. (Q. NO. 103 -
105)

few fe'gr feg fo'39 fea feim my dovs fan e =8 fefds 43t v % yav (fsamt fe9) §
Ton@er 71 fen fo'39 e fons 575 rfmis a9 W3 o 3 yast € €39 fel
(Q. NO. 103 - 105)

Basketball
63°

Football
54°

103 | What percentage of the total spending is spent on tennis?

(1) 12%% 2) 22%% (3) 25% (4) 45%
103 | g ya¥ <t f4& yfaussr Sfan Gua yew st At O
(1) 12%% 2) 22%% (3) 25% (4) 45%

104 | If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket
and hockey together was
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(1) Rs. 8,00,000 (2) Rs. 80,00,000 (3) Rs. 1,20,00,000 (4) Rs. 1,60,00,000
104 | § Ay € <076 43T QU9 HoU TSt g% Ia 2 J97 9, 37 faae W3 gat §ye fusT & Hew &St

I H:

(1) 8,00,000 JUT (2) 80,00,000 JUT (3) 1,20,00,000 JUE  (4) 1,60,00,000 JUT

105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by

(1) Rs. 2,50,000 (2) Rs. 3,60,000 (3) Rs. 3,75,000 (4) Rs. 4,10,000

105 | § Aw feg 43T Qua HI9 J13T I IaH 1,80,00,000 JUT I 3T IHACT' S §UT a3 yaur ¢fanw
€ug 13 Ha9 & Bargar fasT T &

(1) 2,50,000 FUT (2) 3,60,000 JUT (3) 3,75,000 JUT (4) 4,10,000 JUT
106 | The radius of a sphere whose volume and surface area have same value, is
(1) 1 unit (2) 2 units (3) 3 units (4) 4 units
106 | feq 3@ & fommTay, fAN @ wfess W3 AST E3T T AINTE B J
(1) 1 gfase (2) 2 gfee (3) 3 Gfae (4) 4 Tfae
107 | Inthe number 3.4625, the place value of the digit 2 is
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
107 | 3.4625 Afymr few, 2 Wi € AES HE T
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
108 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
(1) 10 (2) 85 (3) 15 (4) None of these
108 | 50 & MU 57 &3 3 fen fev 20 731 €R fe9° 35 wer fe€ 1 3t ot yruz aee O
(1) 10 (2) 85 (3) 15 (4) fegt feg aet &t &t
109 | What number should be put in the blank box?
7 5 9 18
6 3 7 21
4 |3 9
7 4 8 24
(1) 9 (2) 27 (3) 36 (4) none of these
109 | yrut g feu faost Afvnr Tust oatet O
7 5 9 18
6 3 7 21
4 |3 9
7 |4 |8 24
(1) 9 (2) 27 (3) 36 (4) fegt feg aet =t st
110 | What is the next number after the following? 4,9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121
110 | 3= fafumt game marst Afamr &t 3 4, 9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121

111 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?

(1) 6 (2) 7 (3) 8 (4) None of these
111 | 7 feq fos @ »m feg 4 =ur fe'3T AfeT J, 3 f§& 2/3 &% <u A J| fds e 79 (e Haeq) ot
dJ:
(1) 6 (2) 7 (3) 8 (4) fegt feg aet <t a4t
112 | The HCF of (x — 1), [.1’2 —1)and [.‘1’3 —1)is
(1) (x— 1) (2) (x*—1) (3) (x*—1) (4) (x + 1)
112 | (x—1),(x* —1) W3 (x*— 1) STHCFT:
(1) (x—1) (2) (x*—1) (3) (x* — 1) (4) (x+ 1)
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113 | The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is

(1) 20 (2) 15 (3) 30 (4) 34
113 | 5 ffiprret €t #iRg 26 T 7 fea Afnr § a'e fo'gr A=, 3t fegt & #iAz 24 T1 TS Afvdr &
(1) 20 (2) 15 (3) 30 (4) 34
114 | How many carats are there in one gram?
(1) 3 (2) 4 (3) 5 (4) None of these
114 | fegq 3 fev fas d9e vs:
(1) 3 (2) 4 (3) 5 (4) fegt feg aet adt
115 | A plot has width of 44 feet and length of 90 feet. What is the size of the plot?
(1) 500 square yards (2) 450 square yards (3) 440 sq. yards (4) none of these
115 | feqr ymTe Tt 937El 44 g2 M3 9 90 g€ T UBTE T ArElT ot 9
(1) 500 =9ar Ired (2) 450 =94r Ir (3) 4402391 I (4) fegt fag aet <t &t
116 | One of, the students of a class hardly talks in the class. How would you encourage him to express
himself?

(1) By organizing discussions

(2) By organizing educational games/ programmes in which children feel like speaking
(3) By giving good marks to those who express them'selves well

(4) By encouraging children to take part in classroom activities

116 | gm feu fea fefenradt 993 Hafas 5% Gz J1 At €7 & WuE Wy § fomas a9s @3
fa=* €3wfog aqqr:

(1) =T HHIS IT A |

(2) fafemana 43T/UaHt F WiHs 94 d fA g 89 §8eT UAE dde I

(3) €5 & 991 Wi € o fagz MruS »ry § Sait 37 fend s aoe I5|

(4) gfont & g™ gn aiStfedtnt feg for 8 emz Esrfoz ag a|

117 | Success in developing values is mainly dependent upon:

(1) government (2) society (3) family (4) teacher
117 | feammi® Wat feu Res3T vy 39 3 fan Gua faaga o
(1) AE™g (2) A (3) ufgemd (4) miformus

118 | Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not
necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, E and G?

(1)7 (2)9 (3)11 (4) Cannot be determined
118 | geg#d 1,2,3,4,5,6,7,8 M3 9 & fd& "uT A, B, C, D, E. F, G H WS | ™3™ EarfemT fapur I, ug
wgat 591 fa fegt &7 g €91 521578, A+B+C, C+D+E, E+F+G ™I G+H+l fe9' 939 13 € sarwa J1(,
EM3 GEr T at &

(1) 7 (2)9 (3) 11 (4) fsgurfag =t 13T AT AT
119 | Which of the skills do you consider most essential for a teacher?

(1) encourage children to search for knowledge

(2) have all the information for the children

(3) ability to make children memorize materials

(4) enable children to do well in tests

119 | wiforye Bet AT 3 WM< AT IEBIT faa=t gt O

(1) fefemmaghnt & farns € &7 B¢t @3nfoxs s

(2) gfent et At FEaT YUz JaaT

(3) gfent feg eA3t § oe J9s & warsT

(4) gfgnt & ydhusT feg 99 YEoHs dda & War g8 |

120 | Absenteeism can be stopped by:

(1) Teaching (2) Punishing the students
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